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Choose the correct option for the following questions. 1x15=15

1. Differentiating 5x3 — %xz w.r.t x we will get —

a. %xz —x

b. 5x%2—1

c. 15x2%—2x
d. 15x% —x

Ans: d. 15x% — x
d
2. Ify = ax® — bx + ¢,where a, b and c are the non zero constants, then % =

a. 3ax®—-b

b. ax?®—bx

c. 3ax?—bx

d. 3ax’—b+c

Ans: a. 3ax? — b
3. s =5t%—sint, then d _
dt
a. 10t —cost
b. 10t? + cost

C. §t+COSt

d. 10t + cost
Ans: d. 10t + cost
_ x4 dy _
4. Ify = - Cosx then =

4

3 X .
COoOSX — TSlTLX

a. X
4
. X
b. x3sinx — - cosx
x3 .
— cosx — sinx

d. None of these
4
Ans: a. x3cosx — xrsinx

5. Differentiating vx — % w.r.t x, we get —

a. %(1 +2)
b 77 (1-3)
c. \%(1+%)
d. None of these

Ans: a. ﬁ; (1 + %)



6. If,y=(2x+6) then =

a. 10(2x + 6)*

b. 5Q2x +6)*

c. 30(2x +6)*

d. None of these

Ans: a. 10(2x + 6)*

— X dy _
7. Ify=e .lnx,thendx—

X

a. 37— e* .lnx
eX x

b. 7+e Lnx

c. e*.lnx

d. None of these
Ans: b. % +e*.lnx
8. Ify = 5t3 and x = sint then what will be the value of Z—z ?

a. 15t? cost
b. 15t? — sect
c. 15t% + cost
d. 15t sect
Ans: d. 15t2 sect
9. The displacement of a particle in 1D motion is given as x = 3t3 — 9t m. The nature of acceleration — time
graph of the particle will be —
a. A straight line parallel to the time axis
b. A straight line parallel to the acceleration axis
c. A straight line making an acute angle with the time axis.
d. A straight line making an obtuse angle with the time axis.
Ans: c. A straight line making an acute angle with the time axis.
10. The displacement of a particle is given as a function of time as s = (t? — 5t )m, where t is in sec. The velocity
and acceleration of the particle are respectively —
a. (t?-=5)m/s and 2tm/s?
b. (2t —5)m/s and 2 m/s?
c. (2t)m/s and 2 m/s?
d. (2t —5)m/s and 0 m/s?
Ans: b. (2t — 5)m/s and 2 m/s?
11. The displacement of a particle in 1D motion is given as x = 3t — 9t m. where t is in sec. the motion of the
particle is —
a. Uniformly accelerated
b. Uniformly decelerated
c. Non-Uniformly accelerated
d. Non-Uniformly decelerated
e. C. Non-Uniformly accelerated
12. In the above problem what is the velocity of the particle at 1sec?

a. 0m/s

b. 9m/s

c. —9m/s

d. None of these

Ans: a. 0 m/s



13. the velocity of a particle is given as v = §t3 — 4t% m/s. what will its acceleration at t = 2 sec?

a. 0m/s?
b. 8mis’
c. —8m/s?
d. 16 m/s®
Ans: C. — 8 m/s?

14. In the above problem, what will be the acceleration of the particle when velocity is momentarily zero?
a. —24m/s®
b. 24 m/s®
c. 48 m/s?
d. Itis never possible to have acceleration when the velocity is zero.
Ans: b. 24 m/s?
15. The displacement of a particle in 1D motion is given as x = 50 + 2t — 3t3 m. where t is in sec. the motion of
the particle is —
a. Uniformly accelerated
b. Uniformly decelerated
c. Non-Uniformly accelerated
d. Non-Uniformly decelerated
Ans: d. Non-Uniformly decelerated
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